EIAES

TEHIEBDIER RE=

5 B 20 BICEARMEEMBRWAD LE UZ, ZULBVESIEIRPIE
DINETT, BENBE, TFHERUCIL,

ll/_lj\-t\

SUBDFHE

6RNREER
SEBAEE UKD |

2013. 6. 3

/EE

WWE%@LE@\WMET

[TONBNEXFAEDKDELR O TLUENET, FOUNEBE, CHDOBKDHE
RPEZEFRHLE L& D,

WW £ noso Ty LAALA

A

ODEFTEICE-T. LT DEIBEHE
NTLHER T,
OHELTUVS L, HOASPHE, HCO

BlCETRENLADZT,

O NPOME (Elc=2— 9Jz®)ﬂo-v

-

L Le3 Uil
1=

M [o

¥z
2
of Y, <5
el

QELECEDTER (BRART v L) S
ADRMATEBENEHLTERT. WEX
ATVSHEBINRENSBERTY .

AN

< 7

GLE-ERAEBCLE)

1. ELWIFS9y IV IT,
73— MRS

o mf (=2 1%

DY) sLmbEEREEC

THEOITHNTT,

2. X{HDATRNS

ERICIE, OoHE
, ENLICT BB
BN soz7,

3. aNNaERTS
J SINIAMEIL, 8 <
ECHEL, MER
ﬂ& DUATERDET,

> BYBEE

T LB AR,

6 BDRETE OETIBE, WEXAZBIBIT, @ | | amcescer ) ‘
B NE ) | #omsTLRLET, ) | Bozen. W]
118 GO H08R7#H | RRE UES f"f:!(ﬂ F % £ V([ zhbhEREHE g
128 K < (ZREE) (BH. RR5EBLFT,) ':%E;E; """""""
128 0k 5®HME | HERED MORES - 2F 4 4. 510 &~ C SOFmBRL
\‘/\

BEE, FEGEBESHOGE | O\

BREBSICEIR!

BECBNDZET, BERHOEDE.
KONIEKDEEBDERDVRED !

RR—Y KUY DBENS 01~02%DEAE.
BERY A IILTTIHDDC !

REHE, BIIEORNEDE.
HFRARESHDEL |

\\\\‘ %%DBE%Ebmi%ébf%béjﬁ&j;///
.

Q
e
R=/G) ~

.EE@E@TQJ/EJ@&ﬂE%LbT
Ué%%ﬁﬁﬁfhko HTODFELOD

J\>0m%§m~-¢a N

EHYTS g

Fo

12TEENSED

PICTEBGLRENRETRIDET,

®=<(E. 1BECSWVWTEDEY,

L bh%aaﬁhr%ihﬁrmt? RS BEIE. EREA,
" TEET N -
|j;_| % ODRXICRIES
\ SO0 EFRICED
1 ] [N
w (e ~eprl S cEwi TuTy
Th B s LAl =t LA
oL oiE sEr R RET. O |V  2PVELET. @

QERHTVEVLEE,

R5I< &FiE. EWRIEN )



http://ord.yahoo.co.jp/o/image/SIG=11v85ll3p/EXP=1369966466;_ylt=A7dPdDECtqZRYzEAi.GU3uV7/*-http%3A/www.wanpug.com/illust/illust3636.png�

mhEE (B

Qoo
oo

0%

20%

40% 60% 80%
BiEER BWERS 0L U

100%

'L DFER
1 W8 BUHECEDICNEDLED, ELEHDFT,

2 8 SLHOETRRIEZI2-YYRAETT,
3 MBI -—HYVYREDKRETT,
4 B E5RSRNFEITDDEHUE D up!

ELERB-TEVTHBYEEA
B<HEEZEZAAN! ]

/ MF>Ti@?? \
Decayed teeth
(S LBEZEEELTLVRU\E)
Missing teeth because of
Caries
(B L OHEERENRE T
RUVNZED)
Filld teeth

(B Lz 5% LIZHE)

CO3DDEtEREERT
JEAHTEIDE, —ADHIZDDFE
@ED“E&&)BH&@“O HFEMhs

NWEERRBB/ENDCETT,

RHEP DMEREH
154£=0. 53K

2F%*=1. 32K

SHEE=2. 47K




